For the test you should know this (which was explained probably too quickly at the very end of the lecture of October 22th):

The WTO has a mechanism to punish the countries that violate the WTO rules: it authorises the victims of the transgressor to retaliate. But this must involve the following procedure:

1. The victims present a complaint to the WTO.

2.  The WTO analyses the complaint.

3. If the WTO deems the complaint valid, it authorizes the victim to carry out a retaliation decided by the WTO against the transgressor.

Note that Donald Trump completely overlooked this procedure.  He proceeded as follows:

1. I think that China has violated rules 4 and 5 of the WTO.

2. Instead of presenting a complaint to the WTO and waiting for its verdict:

- He unilaterally decided to retaliate

- And on terms decided by himself (a tariff of 10%, to be raised to 25%, on US imports of $200b of Chinese goods).
